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&:Suppose S is some set

and suppose ACS.

The momentof A in S is

A =(x) xe S and xA}
en
read:A consists ofall X where

x is in 5 and xis not

in A
S

Some
other

notations
etIfor AareS - A

1



=

S =[1,2,3,4,5,63

A =[1,3,5 odd #S

Then

F =32,4,64
-

A S

-2



#f:LetA and Bbe sets.

The erection of A and B is

ARB =[x/xe A and x = B3
e

ARB consists ofall X

where Xis in A and

xis in B

B
A

⑲



The wire ofA and B is

AVB =[x/xeA or x=BY
en
all xwhere Xis in A

or x
isin B

Ein math" or
"can

mean
bothx =1, xeB

A

⑭*



Hef:the setis

the setwith no elements.

It's denoted by

4 or 33

---
EX:Let

S be the sample

- for flipping
a coin

space

3 times
in a

row.

S =E(H, H, H), (H, H,T1,
(H,T, H),

CH,T,T1, (T, H, H),
(T,H,t),

CT, +,H), (T,5,5)3



Let

A =[(H,1,+),(H,H,H),(T,5,H1}
B =E (T, T,T1, (5,T, H1, (H, H,H), (T,Hi)}
c
=[(H,T, H),(H,T,T),(T,H,H1]

S

C-ih



Then,

AVB =[SH,H,5), (H, H, H1, (5,T, H),
(T,5,5),(T,H,T))

AnB =[(H,H, H),(T,+,H)}

Arc
=G BrC = ↑

-

-andY are
Hef:Two

-⑭disjoint if--Ex:In the previous example

Aand C are disjoint.

Also, B and
C were disjoint.



#

f: LetA, A2,.o., An

be sets. Define

YA=A,AzR... An
i =1

=> x(xEA.
and xe An 3

and ... and XEAn

=(x)x= A: for
all 3

1 -i
=1

and

XeA, or XEAz
or

YAi =[X) ... or xe An 3
i =1

=Ex) XAn for some3
1=U

=Ex) one"of"AA!?"An3



#S =[1,2,3,4,5,6,7,8,9,10,11,12]
represents rolling a 12-sided die

Cdodecahedron)
Let

A1
=[1,2,33 As =[4,5,6,73

Az=33,4,53 A4=33,835
"A =A,UAcUAsVAy

A,

i=1

=[1,2,3,4,5,6,7,87
As

=[1,2,3,4,5,83⑮A,UAzUAY ·7

YAi=A,MAzAsAy 90 100
11. 12.

i=1

=
4

A,Az1Ay
=533



#: Suppose AyAn, As,00.
are an infinite number

of sets.

Define

&Ar=A,MA21As 1...
i
=

1

=Ex) Yo! In
one3

&

A=A,VAcUAs U...
i =1

=Ex)Yune"te



#The setof integers is

&=[.r.;4,-3, -2,-1,0,1,2,3,4,...]

For each is,
define

A= =3x(x =
2 and

- i = x =i]

then,

A,
=3-1,0,13

Az =5 - 2,
- 1,0,1,2]

As =[- 3, -2,
-1,0,1,2,33

Ay
=G- 4, - 3,

- 2,
- 1,0,1,2,3,43

As
=( - 5, -4, - 3, - 2, -1,0,1,2,3,4,5]

⑧

·



Then,

22,Ai =[-1,0,14

YAi= *e
i =1

-
-

D:LetA and B be sets.

The Cartesian productof
-

A and B is

AxB I [(a,b)(a=A3
en
read nee

I all elements of the"Across B form (a, b) where



atA and beB

--

#

A=[H,T]
and B =E 1,2,3,43

Then,

AxB =[(H, 1), (H, 2), (H, 31, (H,4),
(T,1),(5,2),(+,3),(5,413

AxA
=[(A, H), (H,T), (5, t),(t,H13

BxA
=[(1, H),(2, H),(3, H),(Y,H),

(1,5), (2,5), (3,T), (4,Ty



Hef:LetA and Bbe

sets. Aration of from

AtoB, notated
f: A-B,

is a
rule that

assigns toeach
element

of Aa district

elementofB.

B
A

O


